Maulana Azad National Urdu University
B.Tech V Semester Examination, January 2021

BTCS513PCT : Design Analysis and Algorithms / BTCS502PCT (Backlog)
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?ugéy/b; T Pseudocode (i)

‘< Big (O) Notation (i)

el NP (i)

_u:/Define 4 Hamilton Cycle (iv)

Ut 4 6UL Back Tracking Algorithm (v)

_uf/L“: Demerit VQJ/J Greedy Algorithm (vi)

_uf/l;. Time Complexity d/ Worst Case s/Best Case d/ Quick Sort  (vii)
_uf/L“:u’G,QKDynamic Programming  (viii)

?La,gi*“ié Problem (¢, /‘ﬂ)l.»"“! §'Backtracking  (ix)

_u:/Define S Theta Notation (€) x)

r» 2
_éfwu;?‘agCharacteristics wagégﬁ’. T Algorithm (2)
_Q/'/Calculate 4/5£Tree, Time Complexity d/Worst Case .s/Best Case d/ Merge Sort (3)
:«}L};JRelationship d/gﬂ TLUWQ/ Define & P, NP, NP-Complete & NP-Hard Problems 4)
_Q/r;u'LDiagram
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_Q/wu;jVLJ@?‘atnuw/uﬁ(Real Life) &J&OW'KJ!?%@Q’% T Minimum Spanning Tree (5)

-uf/lZLimitations,z.{d/ Approach Jmtu:/Explain S Structure £ Dynamic Programming (6)

_uf/l'«. Sum Subset 4/5£Backtracking < Set Z%)é?ugégf T Sum of Subset Problem (7)
where M=4; S={2, 9, 10, 1,99, 3}

L&//UL&IE{Bathracking ?Lalﬁ)l.&!{w?‘ag Graph Coloring Problem (8)
-Q/yw;?9ﬁﬁnuﬁL/Solve /Graph Coloring Problem

J Problems ufu!?uggUnbounded Knapsack s/ Fractional Knapsack, 0/1 Knapsack Problems 9)
SUs s Approach sl i Solve

r}“p"
S Travelling Salesman Problem « Adjacency Matrix s/ Graph szg; (10)

_Q//ffwt’nd/Steps /;!u:/SoIve <« Branch and Bound Method
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?‘QQ/AII pair shortest path problem  (11)

- & Floyd and Warshal Algorithm y’gwﬁﬁg)f{dv&;‘gp
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_Q/f'/wu;d/ Steps_Q/U’éﬁiBacktracking Sorn Knapsack Problem Z%)Jn Sounr (12)

Where n=4; capacity = 16

Items Profits weights
1 30 5
2 50 10
3 10 5
4 40 2

_wL};d/Steps 2,3 Greedy Algorithm _u:/L“:Optimal Job Sequence 4/5£J’5Table S (13)
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JAE
Job J1 J2 J3 J4 J5 J6
Deadlines 5 3 3 2 4 2
Profits 200 180 190 300 120 100

A Q% QA

Q/ffwu;d/Steps _Q/Sort 2,5 Quick Sort S Items ZZQ; (14)

32,61,18,9,23,50



